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1. In which of the year Martin Luther King was awarded the Nobel Peace Prize?
A) 1964
B) 1965
C) 1967
D) 1967

2. Bhoodan Movement was initiated by:
A) Mahatma Gandbhi.

B) Vinoba Bhave

C) Sardar Patel.

D) Sunder Lal Bahuguna

3. The menace of the honour killing is prevalent in some parts of India. In order to
prevent honour killing, the remedies that can be suggested included:

A) a gender sensitive society

B) shedding prejudices of casts and class
C) making laws regarding honour killing
D) all of the above

4. Which pair of books and their authors is not correctly matched:

A) Jean Dreze and Amartya Sen. : Hunger and Public Action

B) Johan Galtung . A Transnational Perspective

C) Mahbub-ul - Haq . Reflections on Human Development
D) Geoffrey Ostergaard . Indian Economy
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5. The land reforms methods includes :
A) Abolition of intermediaries
B) Tenancy reforms
C) Reorganisation of agriculture
D) All of the above

6. What is correct about NATO

A) It was established in 1949

B) It is a military alliance under the leadership of America

C) It was established to provide collective security against the Soviet Union
D) All are correct

7. Where is the Headquarters of University of Peace established?
A) Costa Rica

B) Brazil

C) Britain

D) Germany

8. What is CTBT stands for:

A) Comprehensive Nuclear Test Ban Treaty
B) Common Test Ban Treaty

C) Common Treaty for the Bomb Test

D) None of the above

9. ldentity the features of responsible journalism:
A) Journalists should seek out all points of view
B) They should not be biased while reporting

C) They should analysed the news of conflict

D) All are correct
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10.  Realist theory of peace-building believes in:
1. International system is anarchic

2. There is no authority who can prevent conflicts
3. States believe in power politics

4. States are driven by their national interests
Which is/ are correct

A) Only 1 is correct

B) Only 2 is correct

C) Only 3 and 4 is correct

D) All are correct

11.  Which theory of peace building believes that the world should be regulated
by international organisations, norms and standards:

A) ldealist theory

B) Realist theory

C) Structuralist theory

D) Post- Structuralist theory

12.  "Peace can be brought only by Non-violent way" who said
A) Mahatma Gandbhi

B) Martin Luther King

C) Vinoba Bhave

D) Jay Parkash Narayan

13.  Why, in today's world, peace is needed?
A) For development

B) For non-development

C) For War

D) For invasion
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14.  Which one is not rightly matched:

A) Montgomery Bus Boycott. : 1956
B) Birmingham Campaign. . 1963
C) March on Washington ;. 1970
D) Southern Christian Leadership Conference. . 1957

15.  Which one is not correctly matched:

A) International Convention for the Suppression of the Financing of Terrorism
: 1999

B) Convention on the Physical Protection of Nuclear Material: 1989
C) Convention on the Unlawful Seizure of the Aircraft.: 1970
D) International Convention against Taking of Hostages.: 1980

16.  The General Assembly passed the 'Uniting for Peace' resolution for which
purpose?

A) To undertake peace keeping functions under the United Nations Charter.

B) To bring the nation's around to the world come closer

C) To invade Iraq

D) None of the above

17.  What is the truth about' Project Interfaith'?

1.Non-profit organisation

2.Aims to grow understanding, respect among people of all faiths
3. It promotes cultural diversity

4.1t functions through media

Choose the correct answer

A) Only 1 is correct

B) Only 2 is correct

C) All are correct

D) All are incorrect



BGP-001
18. In 2008, a report was prepared by the Expert Group to the Planning
Commission of India, the report was about:
A) Economic reforms

B) It highlights the connection between ethnicity, economic backwardness and
Maoist violence in parts of central India

C) Political reforms
D) Social reforms

19.  Which one among them is wrongly matched:

A) Conflict Management : Disappearance of conflict

B) Conflict Transformation : From harmful conflict to less harmful
C) Conflict Resolution . Settling and ending conflict

D) Conflict Settlement. . Increasing the conflict

20.  Which one is not correct regarding Biological Theory of Conflict?
A) It trace the sources of conflict and violance in human genes

B) It mostly focus on aggression

C) It considers aggression as being genetically in human nervous system
D) It emphasis on the concept of ' Survival of the Fittest'

21.  Dean Pruitt and Jeffrey Rubin identified some strategies of dealing with
conflict which one among them is not correct:

A) Contending

B) Yielding

C) Problem-solving
D) Peace



22.  Which one, among them is not associated with conflict theories:

A) Quincy Wright
B) Anatol Rapoport
C) Singer

D) D D Raphael

23.  Who presented a classification of 18 level of conflict?W
A) Stuart Chase

B) Dennis Sandole

C) Johan Galtung

D) Kenneth Boulding

24.  What is correct regarding conflicts?

A) These occurs between states at global level

B) The differences are articulated through the channels of diplomacy
C) Powerful countries tries to dominate in such type of conflicts

D) All of the above

25.  India - China war fought in ----------
A) 1962.
B) 1963
C) 1971
D) 1965

26.  Elaborate the term CBM

A) Confidence Building Measures
B) Comprehensive Building Measure
C) Complete Building Measure

D) None of the above
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27. Who said, "there will be no peace among the nations without peace among
the religions. There will be no peace among the religions without dialogue
among the religions™ ?

A) Hans Kung
B) Johan Galtung
C) Karl Marx

D) Kaplan

28.  The notion, " as long as you are talking you cannot be shooting" is related
to:

A) Dialogue

B) Peace keeping

C) War

D) Conflict

29.  What is difference between Dialogue and Debate?
A) Dialogue is collaborative while Debate is oppositional

B) Dialogue causes critique of the other position while Debate causes introspection
on one's own position

C) In Dialogue one searches for glaring differences while in Debate one searches
for basic agreements

D) Dialogue implies a conclusion while Debate remains open ended.

30. Vinoba Bhave elaborated five types of political resistance against injustice.
These are:

1 . Resist evil with greater violence
2 . Resist evil with equal violence
3. Resist evil with Non- violence

4 . Resist not evil

choose the correct answer
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A) Only 1 is correct
B) Only 2 is correct
C) Only 3 and 4 are correct
D) All are correct

31. Jay Prakash Narayan was associated with:
A) Sarvodaya and Bhoodan Movement

B) Reconstruction Programmes

C) Gramdan Movement

D) All of the above

32.  National Association for the Advancement of Colored People (NAACP) that
was set up for the purpose of promoting black equality in America, had been set
up in----

A) 1909

B) 1910

C) 1911

D) 1912

33.  Who wrote the book, "Stride toward Freedom"?
A) Mahatma Gandbhi

B) Martin Luther King

C) Jay Prakash Narayan

D) Vinoba Bhave

34.  Who started the " Total Revolution" movement?
A) Vinoba Bhave

B) Jay Prakash Narayan

C) Mahatma Gandhi

D) Bhimrao Ambedkar
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35. " Total Revolution " gave emphasis on ....
A) Non- violent means
B) Moral values
C) decentralisation of economic and political power
D) All of the above

36. Dialogue is an important method to resolve conflict. What are the other
methods, other than Dialogue, to resolve the conflicts ?

A) Compromising
B) Collaborating

C) Withdrawing

D) All of the above

37.  When did United States and Britain invaded Iraq ?
A) 2004
B) 2003
C) 2005
D) 2001

38. What are the main features of the Alternative Discourse School of Peace
Building?
1. It focuses on ordinary people

2. It analysis the power structure based on  realities instead of normative
assumptions.

3. The main focus of these studies are United Nations

4. They are critical of liberal imperative of peace-building assumptions.
select the correct answer

A) Only 1 is correct

B) Only 2 is correct

C) All are correct

D) All are incorrect
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39. ldentify the Conflict Resolution Strategy by Martin Luther King:
1 . Effective use of Bible
2 . To appeal to the values of the Western Civilization
3. Use of American Constitutional and legal documents

4 . To bring together the American black and white people for the harmony of the
society

Which were among the above used by the Martin Luther King
A) Only 1

B) Only 2

C)Only land 3

D) All

40.  Who wrote the article, " Lok Shakti ka Sampratyay" ?
A) Vinoba Bhave

B) Jay Prakash Narayan

C) Mahatma Gandhi

D) Lal Bahadur Shastri

41.  What is the Security Council?

A) An organ of the United Nations

B) Chamber of American Congress

C) An independent body to prevent conflicts
D) None of the above

42.  Consider the following statements:

1. The Suez Crisis started in 1956

2. It began when the President of Egypt Nasser nationalized the Suez canal
3. Britain and France attacked the Egypt for this act

4. The matter was resolved by United Nations

which among the above statements is/are correct
10
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A) Only 1
B) Only 2
C) All are correct
D) None of the above

43.  Jay Prakash Narayan was born in which district of Bihar?
A) Saran

B) Katihar

C) Darbhanga

D) Sitamarhi

44.  The Cold War ended in which year?
A) 1989
B) 1990
C) 1991
D) 1992

45.  Regarding the theories of conflict, who gave the theory of, "ideological
hegemony"

A) Karl Marx

B) Antonio Gramsci
C) Robert Dahl

D) Adam Smith

46.  Which one is/are correct regarding Human Need Theory?
A) John Burton gave this theory

B) It believes that human being have certain basic needs

C) Only one is correct

D) Both are correct

11



BGP-001
47.  The book, " On Aggression™ is written by:
A) Konard Lorenz
B) Robert Gilpin
C) Charles Darwin
D) Henri Farfel

48. ldentify the feature/ features of Latent Conflicts:
1. These are known as Non- violent conflicts

2. In this conflict parties questions existing values, issues that have a national
relevance

3. Latent conflicts must carry identifiable signs

4. In latent conflict the positional differences be articulated as demands.
Which is/are correct

A) Only 1 is correct

B) Only 2 is correct

C) All are correct

D) All are wrong

49.  Kenneth Boulding presents how many types of social conflicts?
A) Two

B) Four

C) Five

D) Eight

50.  We can put War in which of the  categories?
A) Violent

B) Non- violent

C) Peaceful

D) None of the above
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